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= 409,908
< 98,519
Al 4,751,092
MNASE AZ3H(MIASX /I ZMEEE) 5,159,129 5,281,526 A 122,397
= 364,372
< 92,827
Al 4,701,930
MNASEE =220 N (A2ESIISSE3H) 5,159,129 5,281,526 A 122,397
= 364,372
< 92,827
Al 4,701,930
AT SHHIE AIZRE2 EF 4,656,383 4,719,046 A 62,663
308 XX EHHSOIA 4,656,383 4,719,046 A 62,663
07 IXNHMARE = 4,656,383 4,719,046 A 62,663
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= 47,280
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= 139,800
< 17,475
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= 201,840
= 25,230
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307 giztol & 252,300 260,000 ANT7,700
= 201,840
= 25,230
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o1 s R=tl 252,300 260,000 AT,700
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252,300,000 = 14l 252,300
= 201,840
= 25,230
Al 25,230
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Al 2,842
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ol ALY 58,247 30,800 27,447
= 45,536
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Al 7,019
101 124 H] 58,247 30,800 27,447
= 45,536
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